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F.LE.A.4: Exponential Equations 2

1 The value of X in the equation 4> = 8 is 8 Solve for x: 4* =8*"'
)12 23) 5 4 -10

9 If8 "' =4* what is the value of X?
2 Which value of k satisfies the equation
83k+4 — 42k*1?
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10 Solve for x; 4™+ =g*

3 What is the value of b in the equation
47273 =8!0 11 Solve for x: 32" =4
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12 Solve for x: 16*7* =322 10
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4 The solutionof 8' * =16"""is
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13 Solve algebraically for x: 16> = 64***

5 Solve for x: 64* 7% = 256*

-6 -6 -1 14 Solve for x; 8" =32* !
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6 Solve algebraically for x: 8% =46

7 Solve for x: 47! =8*
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